U137 5%

RIS o T3 —F X2, R — 2 —F X2, R — 2 —F X2, H— %= BT 2 2454 A £IR
TR EFE - = EBAT ¥ B2AT T3 = EBAT ¥ B2AT 173 = EBAT ¥ B2AT R 1753 TEM RN B2 | B2RAT| B1R | BIRAT B
AlEAE ETHIE - Q 4 Q 1 - - - 0 - 0 Q 1 4
2 1 Q 1 Q 1 Q 1 Q 1 Q 1 Q 1 1 Q 1 Q 1 1
AES F o) 1 o) 1 o) 1 28 o) 1 o) 1 o) 1 33 - o) 1 o) 1 3
ek Hifg Fa (0] 2 (0] 1 (0] 1 Fei (0] 1 (0] 1 0] 1 Fomi [0] 1 0] 1 [0] 1 2
F—ATRY—
IR o s [w— — s |w— — s |w— — % BT 2 21AT| B1 1A 41t 1 Sl
FRIEG EFE - = FEAT R—F 22 BIAT R—FR1 AT 5 FEAT R—F 22 BIAT R—FR1 AT 5 FEAT R—F 22 7 R—FR1 SIAT SEEY (EEHAI| B2% | B2MAT| B1# | BIMAT BIIALL BIIALL
] - - (@) 2 = = O T - - -
B BRAER - - O 4 Q 2 Q 1 O 1 - - - N
RPN Far g - - o) s sz [ O 1 o) 1 o) 1 shatem |- - - ! 0
EHIFS - - D 5 D 5 D 5 D 1 - - - 1 G
& - - (@) ] (@) ] @) ] @) ] - - - N
BRE A - - 0 Il 0 4 0 4 0 i - - 7 N
0| 0| 4
1 0 o) =
$3—F4—3FNL
RIS o T3 —F X2, R — 2 —F X2, R — 2 —F X2, H— %= BT 2 245 A £l
TR EFE - = EBAT ¥ B2AT 173 = EBAT ¥ B2AT T3 = EBAT ¥ B2AT R 173 TEM RN B2 | B2AT| BIK | BIRAT B
4|FI BE - - ) 1 - [@) 2 [@) 1 - - @] 5 4
3liy g B - Q 1 - Q 1 Q 1 - - B 3
= %5 | smE[ O I o} I o} I somm [ O 1 [6) 1 [6) 1 somm | O 1 @) 1 @) 1 1
T He Q 1 Q 1 Q 1 Q 1 Q 1 Q 1 Q 1 Q 1 Q 1 1
Y—Fw—NASFIL
T 1) = - - = - - = - - = = BEIRE
FitlEs | EFE O il 7 R BT A T =¥ [FEaT] R BT A T =¥ [FEaT] R T A T SEEM EEMAI| BI% | BISAT | B2 | B2#AT BAEIEL
KHE IR (@] 3 (@] 1 (@] 1 - = (@] 4 2 4
% B FIRE[ O 2 o) 2 o) T e - o) T o) 1 EE S - ~ f®) 5 3 1
R O 1 O 1 O 1 - = O ki 2 2
¥5. —1ib [@) 3 [@) 3 [@) 2 1 5
£ BR @) 2 @) 2 @) 1 @) ) o) T @) T = = - A 2
FITAFIEIRAE—
T o == s — ==  In_ PR — ey pr ——
FitlEs | EFE - =¥ EBAT H—F22, HoAT A—F21 AT =¥ EBAT H—F22, HoAT = EBAT HoAT A—F21 AT STEM |FTEHRAI B2 | B2MAT| B13 | BIRAT BB
4] = - - [e] 1 1 1 1
K] 773 JE; - - - - - - 4
2|n® I’ - - - s - - 0 2 v 3
ELk R - e} 5 2R — e} 1 o) 1 IR — a 1 a 1 N




